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� 
u r →∞( ) =

� 
V = V cosϑˆ r −V sinϑ ˆ ϑ 
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ω = ∇ ×
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  ∇p = η∇2� u = −η∇ ×
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ω ,   ∇⋅
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u = 0
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∇2 p = 0

  ∇2 � 
ω = 0
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ωϕ =
CV sinϑ

r2

  
∇p = −η∇ ×

� 
ω ,  and p = C

ηV cosϑ
r2

  

� 
ω =

C
� 
V ×

� 
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r3
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τrϑ sinϑ = 2η ˙ ε rϑ sinϑ = −
3Vη
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sin2 ϑ
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3ηV cosϑ
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3
πR3Δρg = Fd = 6πRηV

Fg = mg =
4

3
πR3Δρg

V =
2R2Δρg
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